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LN
atarn t Module C Review N o r. ’C‘.ﬂ

1 The mean heghia of the students in Marcy's lounth prade class 1 54 e lies Marey's dadvoa profesin sl
. basketball player. What happens to the mean height when bies beight s included wnth the i Ly ?

Tl tncan \u\q\n\’ Wl NSt yath il
Ourhey

2 Given the plot betow, what 15 the difference between the median salary for business antd s gt tles sy
{the graph s in thousands of dollars)?

?,S-‘IS— —’IO |
BRLEET
|

Salary evample (Loxpict)
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3 Below are pnces of bicycles at two competing stores

. Midtown Bikas Bike Central I 5 Var S’faﬁ

$345 §350, $356, $360, $ 375, 5405 $343, 5370, $33b6, $392, $395, 5202

identty the 5 number summary ler cach set of data.

Median 2,7 Median _.f_w:\’"_‘_!“__‘
1” Quartte 350 3 Quarle S5 1" Quartile _S510 37 Quartide: Dl

- -
-

Lower Extreme >L}'._"_ Upper Uxtreme % Lower Extremo E._:—‘;_._._ Uppor Extreme - ¥ .

Oraw a double box plot of the above data on the number ine Lelow
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4 The tolowing ae Quiz scores from two Math l classes

Llass ! B N C‘IN\:) RO 91,88 2 74 L, K2
Class 2 77 91,82 bR 15 72 RS, 65 /0, 79, 91 8o “_ vav SWS
a bind the means tor the test scores of cach dlass
X S R - .]-“ *
(, ) 7

lmd (hv medians for the test scores of each class

'“td C\ '1‘3

¢ Find the range of cach set of test scores
— \.,\ - \’

moX
min - 34

Fmd thc interquartile range of each set of test scores

a0y & o
e Whlth measure of center and which measure of spread should be used to compare t

median  becavse Class 1 has @k atlier

he data’ Why!

f Find the standard deviations. Which class was more conustent in thedr scores? How can you see the

from the standard deviation?

Ci > “-‘ 8 L\CISS 2 wuﬂ Yy € cos s T . < LA .\.'.(_
SX Cs> 14 = nas &\t Srondord v ashon
( rr-

itecl with LQC%?”!\\\«I
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5. Which of the following histograms most hikely has an outher that o above the data? How do you know !
Describe the shape of each histogram

Mislogram of x
2
S -
- 8
) ' )

cuwed U
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v betwerk s math :
eskongragelel ‘. I'r\l. Mo Smith's clacs scored a mean of 85 pomts with o standard desateon of &

o enking

otnt e Vs scored a mean of 78 points with a standard degiation al 4 ponte W o
more consistent on the test 2 Explan your answer

Wy Jenane' Qlas 15 e Untistot e Y
sondard - diviochon = \oerer

7 Afactory s producing and stockpiling metal sheets to be <hipped 1o an autormabide manubac tunng plant
The . u:(omp.mymg hhho \howx the day, x, and the number of sheets in stock, fle)

an (x) l Sh““ n ‘Oﬁml the linear model
| i Stock (f(x)) -
L 1w ] F00=989% £33
l- ; l 930 b What does « represent?
| 11000 =
o 1150 * o days
‘ 5 l 1700 ! ¢ What does I{x) rrpm-.nu

6 1360 |
e # ol ats il e

X

d Mitisday 10 lﬂwhal would you predict the number of sheets in stock to be?

Al 9¢.9 (10)+ 137 3 £OO* 12w 3 Swats)

I there are Bﬂ\h&h in stock, wha: day would you expect it to be?

\0 %S *» 2. 9% +TIFHY T o I ag 94 x « V.5 daus
-1 3. O3NS P 89 959 ' =
e Z

Gl
——
«& S what is the correlation coefficient and what does it tell you about the data?
’ 'i'ia (S WOS I\ MVEe S
\ ) s \)ﬂe ; .99 , th O i
,0\ shon 'ﬁ

g What does the stope in the linear model mean in the cantext of the problem?

tvcﬂ dﬂ%, atts W SO v Tas o
by -

98 9 snaas Creatac with Doce
h  What does the y intercept mean in the conteat of the probleni? = T — ] L) § LIS
on day 0, thave & 137 3 SaaAs ® IOCE &
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B True/False
a
batung average

o a“oLua""’\

There 15 a positive correlation between the show e of a baseball player and his

., b ‘w The correlatian coethicient s the same 4 the v value

¢ &L&é The closer the r value is to 0, the stronger the correlation

AL

Cstimate the coceelation of the Tollowing <c atterplots

(- vahe,

=350 e v
—y-r—si0) w50

(4

=t & 9V
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10. Use the data in the table to find the information below

@ b Y = predicted Y | Residual ear Regresucn Model _"n{__ﬂ_,';;{(_}f'p
(T EEEsE e e T e
2 120 || '
1 . ,’—-\-\j 1'*---§ —— rvalue ; j} s
]
B8 L.d W W o
Correlation (circle one)  strong  or [ weak
St .q \_J

25 | 123 l 1wa
41 | 130 | 196 oy

4 the linear regression model a good (it? Explain
s 1s nm o gqood £ T vesichiah plahe ™ s
“preed o <= WG f‘cc'\\\-i Qbove + below The wrel (7

11. Find the tine of best fit for the data in the table below Let < represent the years since 1990, with w0 Sowt
representing 1990 Let y represent the birth rate per 1000 population Wite the slope = ntercept torm of
the equation for the line of fit using the points representing 1492 and 2000

U[ w ﬁo_hll'ﬁ-' or negalive

gVUnA-u-'d States . Birth Rate { [ Um!od States : Buth Rate ! w B a2 ! ‘q % +1u .
i Birth Rate & e [ Buth Fate |

| Year i (per 1000) | i 2 1 Aper 1000)

o [ 167 | e 199 | 142

' i 163 | ja w1 s

's 159 | {¢ 1o | M6 |

fy fo1ss 1 9 199 I s |

i Sy e T N O

ig f 198 | g 000 | 4%

Predict the bucth rate fin 2005 Round your answer Lo the neacest tenth f necessary

— )
e B A

»
1S \5wls

- “A(s) +iva? \‘\"Vﬂ_—"lséfﬁf[ MITN
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